11

: -
A Lo
. : 4
: 2 £ 2 : 3
!‘ . - &
' !‘ d ' 8
- - -
- - L] -
$ : F 3§
i : '
L
- [ ] &
»* ! - s
-
. . . s =
: . -
& s .
-
== = s s 3
-_— 0 -
- . -
_ gz 0 .

-
-
-
- .
-
- . .
pl .
) = F *44
- il '

Standard Button Heads
— (lass Fixings

Button head fixings have numerous applications Metro. Frameless Glass have a full range of button head fittings,
with sizes from 19mm to the more heavy duty 50mm diameter buttons.

1‘ ;

.
. :

-
MILILALRAARAL)

&t
AAARALAAN
-
l""" ’

r

Ry

Firrrryry.

Key Features
P 19 — 50mm Diameter Button heads are available.
P All Buttons are 304 Stainless Steel Finish.

Material and Finish

P Stainless steel.

Support Inquiries

P Metro Technical phone (09) 927 3000 or email
technical@metroglass.co.nz

©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.

www.metroglass.co.nz

Glass Fixing Standoffs

G)
—
>
)
)
T
>
Z
G)
p
—
>
Z
-
@)
T
T
)

#4 METRO 657

PERFORMANCE GLASS




GLASS FIXING STANDOFFS
Fixing Components (Button Heads, Spacers, Nuts, Washers, Gaskets)

GLASS FIXING STANDOFFS
Standard Button Heads WARRARTY

A

FINISH
WARRANTY

Product Model | Sizes mm Finish Material Type Application Area Product Model | Sizes mm Finish Material Type Application Area
DOUBLE BUTTON | 501028 [M6 19mm Dia.* SS 304 STAINLESS DOUBLE GLASS Designed SINGLE BUTTON 300235 | M6 19mm Dia.* SSS 304 STAINLESS | BUTTON WITH GLASS Designed
HEADS . STEEL BUTTON STANDOFF to secure HEADS . STEEL LDPE WASHER STANDOFF to secure

501030 | M6 25mm Dia.* SS 300236 | M6 25mm Dia.* SSS
mm e HEADS frameless s mm e AND SLEEVE | COMPONENT | frameless
501031 | M832mm Dia.* SS *All double buttons glass M 300237 | M8 32mm Dia.* SSS (M10 SUPPLIED glass
are supplied with panels — IN 316 *All buttons are panels
501033 | M8 38mm Dia.* SS two nylon washers arwl 301945 | M1032mm Dia.* SSS STAINLESS supplied with LDPE
and sleeve. - Washer and Sleeve.
501034 | M1050mm Dia.* SS 300238 | M838mm Dia* SSS STEEL)
Specify 300239 | M1050mm Dia.* SSS
Thickness *M10 50mm
X *Specify X diarpetfsr is
‘Length’ for sup'phed in 316
“X" equals threaded Stainless Steel
tightened thread rod between
length between buttons when SPACIEFI WITH ) 5mm SPACER: 304 STAINLESS SPACER GLASS Designed
button heads. tightened. LDPE (OPAQUE M6 19mm Dia STEEL WITH LDPE STANDOFF to secure
: WASHER 301411 S [Klslf= SSS (OPAQUE) COMPONENT frameless
SINGLE/BUTTON 300240 | M6 19mm Dia.* SS 304 STAINLESS SINGLE GLASS Designed P — (M1OSUPPLIED |  WASHER glass
HEADS - STEEL BUTTON STANDOFF to secure ~ mm Dia IN 316 panels
THREADEDROD | 300241 | M625mm Dia* SS HEADS / frameless e 301424 | mm Hole Sss STAINLESS | NOTE:FOR
300242 | M8 32mm Dia.* SS THREADED *All single buttons glass M8 32mm Dia STEEL) INTERNAL USE
' ROD are supplied with panels 301416 SSS ONLY
300243 | M8 38mm Dia* SS two nylon washers 8.5mm Hole
and sleeve. A
300244 | M1050mm Dia.* SS 301418 N8|85?rfr:“:0?;a 5SS
Tﬁiﬁ’:ii'ezs 6mm SPACER:
M10 50mm Dia
18*msrﬁaenxdpaor:ed ChLk 2=ty 10.5mm Hole SSS
X threaded rod 10mm SPACER:
*Specify X M6 19mm Dia
,Ltehnrge:lj,:gr ; L ] Sz 7mm Hole SSS
“X” equals length rod between M6 25mm Dia
of rod. but{:tﬁ;ls Wgen SO 7mm Hole SSS
ightened.
301417 | M832mm Dia sss
SINGLE/BUTTON 500271 | M6 19mm Dia.* SS 304 STAINLESS SINGLE GLASS Designed 8.5mm Hole
HEADS / LAG . STEEL BUTTON STANDOFF to secure ;
500272 | M6 25mm Dia* SS M8 38mm Dia
SCREW
: HEADS / LAG o frameless 301419 85mm Hole SSS
500273 | M8 32mm Dia* SS SCREW All single buttons glass
- are supplied with panels 20mm SPACER:
500274 | M8 38mm Dia.* SS two "Yc"ﬂnl washers g
and sleeve. i
PRSI | 500275 | M1050mm Diax ss i 301413 | Moo =
s if M10 50mm Dia
Specify. 301421 | "o 5mmAole 588
*Specify X 25mm SPACER:
X ‘Length’ for M10 50mm Dia
threaded iz 10.5mm Hole S
d between
“X" equals length of ro i
Lag Screw. Minimum buttons when o 30mm SPACER:
length 25mm tightened. 1 M10 50mm Dia
Maximum length 301423 10.5mm Hole SSS
55mm. Note: 50mm
diameter minimum Specify
length 50mm Thickness
NOTE: For all Lag Screws and Threaded Rod Sizes Specified: LAG SCREWS ST pEESe g 2N §I0NCSPLATEDSg LAG SCREW co FIX(')NG Designed
o o _ 301300 M8 x 50mm ZINC 4 STAINLE MPONENT to secure
M6 Lag screw / threaded rod, Minimum Fixing Length =25mm S STEEL frameless
M8 Lag screw / threaded rod, Minimum Fixing Length =30mm 301297 M10 x 75mm ZINC NOTE: ZING LAG Q|BSIS
: anels
M10 Lag screw / threaded rod, Minimum Fixing Length =50mm 301293 | M10 x 100mm ZINC SCREW IS FOR P
301295 M10x120mm ZINC INTERNAL ONLY
301307 M8 x 80mm SS
301292 M10x 100mm SS

©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.
Glass Fixing Standoffs

©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019.
Glass Fixing Standoffs

#A METRO 659

PERFORMANCE GLASS

#4. METRO

PERFORMANCE GLASS

658

www.metroglass.co.nz www.metroglass.co.nz



GLASS FIXING STANDOFFS GLASS FIXING STANDOFFS

A

FINISH FINISH

N Fixing Components (Button Heads, Spacers, Nuts, Washers, Gaskets) WARRANTY Glass Fixing Clamps Components WATANTY
LL Product Model | Sizes mm Finish Material Type Application Area Product Model | Sizes mm Finish Material Type Application Area [
LL THREADED ROD 301528 M6 x 25mm SS 304 STAINLESS | THREADED FIXING Designed ADJUSTABLE 300365 | 6-10mm glass SSS 316 STAINLESS | PANELCLAMP | STIFFENER Designed >
O 301529 M6 x 32mm ss STEEL ROD COMPONENT | to secure GLASS CLAMP GLASS ON REQUEST: STEEL PANEL CLAMP | to secure m
frameless THICKNESS: POWDERCOAT frameless
0 301530 | M6x60mm ss glass c 6-10mm glass N
L]
301533 | M8 x 34mm ss panels F . panels
Z % 30kg pert clamp
301539 M8 x 60mm SS loading —I—I
< 301505 | M10x25mm SS MOUNTING BACK | 300045 50mm* ANOD NATURAL ALUM RADIUS FIXING Designed -
— 301512 | M10x60mm ss PLATE 300046 —— ANOD NATURAL MOUNTING | COMPONENT | to secure >
BACK PLATE frameless
U) 301499 | M10 x 100mm Ss - *Allows glass -
301501 M10 x 115mm SS & mounting to SUITS panels 2
50mm or 70mm COMPONENT
(D diameter posts 300365 G)
301038 M6 SS i
= HEX NUTS 304 STAINLESS | HEXNUTS FIXING Designed GLASS CLAMP 300366 | 8-12mm glass SSs 316 STAINLESS | PANEL CLAMP | STIFFENER | Designed
STEEL COMPONENT to secure
e 301042 M8 sS STEEL PANEL CLAMP | to secure dp)
— e frameless —1 GLASS ON REQUEST: frameless
>< 3 301025 M10%* Ss (M10 SUPPLIED glass ‘ THICKNESS: | POWDERCOAT *Supplied with _I
. 8-12mm ; glass
IN 316 panels . asket to suit
— STAINLESS 3 e panels >
STEEL) ‘ y 35kg per clamp 8-12mm glass
Ll— loading Z
U) DOME NUTS 301037 M6 SS 304 STAINLESS | DOME NUTS FIXING Designed GLASS CLAMP — | 300367 |8-12mm glass 5SS 316 STAINLESS | PANEL CLAMP | STIFFENER Designed
- 301041 M8 ss STEEL COMPONENT | to secure FORPOST GLASS ON REQUEST: STEEL PANEL CLAMP | tosecure D
‘&i frameless Q : f] |
) &= 301023 M10 ss lass THICKNESS: | POWDERCOAT it (@)
— ponc s Janels
< ’1_] 35kg per clamp P I I
| SPRING 301611 M6 SS 304 STAINLESS SPRING FIXING Designed & loading. Allows T
WASHERS 301614 M5 S5 STEEL WASHERS COMPONENT | to secure mounting to
CD frameless 50mm diameter m
301601 M10* Ss (M10 SUPPLIED glass post.
IN 316 panels SECURITY PIN 300364 | 21dia.x 6mm WHITE PLASTIC | SECURITYPIN FIXING Designed
STAINLESS COMPO
STEEL) MPONENT to secure
SUITS frameless
FLAT WASHERS 301609 e ZINC 304 STAINLESS FLAT FIXING Designed 300366 panels
nin STEEL WASHERS COMPONENT | to secure 300367
301610 Mlsexn?rix ZINC ﬁ‘arlneless
: (MlolﬁgigL'ED pgaizfs TIMBER CAP 300520 | 14Gx37mm ss 316 STAINLESS |  TIMBER FIXING Designed
301612 | M8x16x12mm ZINC STAINLESS SCREW 300521 14Gx50mm ss STEEL THSH;EQEv?/AP COMPONENT :o seclure
301613 | M8 x 24 x 2mm ZINC STEEL) "agrgeszss
301597 | M10x21x2mm ZINC EW panels
301583 | M1Dx30x ss
METAL CAP 300519 M8 x25mm SS 316 STAINLESS METAL FIXING Designed
301599 | M10x50x3mm SS SCREW STEEL THREAD CAP | COMPONENT | tosecure
N SCREW frameless
LDPE GASKET 301590 |M6x16x0.8mm OPAQUE LDPE LDPE GASKET FIXING Designed i‘"ﬁ glass
WASHERS WASHERS COMPONENT | tosecure L= panels
(OPAQUE) 301591 | M8x19x0.8mm OPAQUE (OPAQUE) Framslose
St || WoeaiElm ShalE g'asls METAL CAP 300522 | M6x25mm Ss 316 STAINLESS |  METAL FIXING Designed
301594 | MBx31x0.8mm OPAQUE panels SCREW STEEL THREAD CAP | COMPONENT | tosecure
SCREW frameless
301595 | M8x36x0.8mm OPAQUE glass
i";@ SUITS panels
301588 | M10x50x 0.8mm OPAQUE L= COMPONENT
300365
NOTE: All glass fixing clamps are supplied with a selection of gaskets to suit glass thickness.
6 6 O ///‘ METHO ©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019. ©Metro Performance Glass. Manufactured Frameless Glass Specifiers Guide. Edition 6, Version 1/2019. ///‘ METHO 6 6 1

PERFORMANCE GLASS

Glass Fixing Standoffs

www.metroglass.co.nz

www.metroglass.co.nz

Glass Fixing Standoffs

PERFORMANCE GLASS



